Nimbus—7 SBUV PMC Ice Water Content g—Plot: SH 7978—-7979

LOCAL TIME adjustment = LATITUDE range = [—82°—-74°]
NONE
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NORMALIZED Cumulative Frequency g, (/WC,)
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Nimbus—7 SBUV PMC Ice Water Content g—Plot: SH 7979-7980

LOCAL TIME adjustment =
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Nimbus—7 SBUV PMC Ice Water Content g—Plot:

SH 1980—-1987

\ NONE
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NORMALIZED Cumulative Frequency g, (/WC,)
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Nimbus—7 SBUV PMC Ice Water Content g—Plot: SH 7987-798<

LOCAL TIME adjustment = LATITUDE range
NONE
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NORMALIZED Cumulative Frequency g, (/WC,)
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Nimbus—7 SBUV PMC Ice Water Content g—Plot: SH 798Z-7983

LOCAL TIME adjustment = LATITUDE range = [—82°—-74°]

. NONE ‘
10 " = ALL local times, dates, nodes used

/Users/deland/pmc/programs,/gplot_v3_iwc.pro
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Nimbus—7 SBUV PMC Ice Water Content g—Plot: SH 7985-7984

LOCAL TIME adjustment = LATITUDE range = [—82°—-74°]

_ NONE
10 HW ALL local times, dates, nodes used

/Users/deland/pmc/programs,/gplot_v3_iwc.pro
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B Y—intercept = 0.113 N
- N\
| 430.0 PMCs used [78376 scans]| AR
N\
10751 Average IWC = 93.8(£30.9) gm/km? N Average FREQUENCY = 2.34%
— N\
— TOTAL lce = 16.7 tons; max = 113.7 %,/\m_d@m ALBEDO = 10.28+107° sr”!
‘, T 7 I 7 I I 7 I 7 I I 7 I 7 I 7 /,/, [ 7 I 7 I I 7 I 7 I
0 50 100 150 200 250 300 350 400 450 500 550 600

Ice Water Content [gm/km?]

File = nimbus07_sh19831984fn_sig1p3_allwv.dat AREA = 7.59E+06 km?



107!

1074

NORMALIZED Cumulative Frequency g, (/WC,)
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Nimbus—7 SBUV PMC Ice Water Content g—Plot: SH 7984-7985

LOCAL TIME adjustment =

NONE
< ALL local times, dates, nodes used

LATITUDE range = [—82°—-74°]
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Nimbus—7 SBUV PMC Ice Water Content g—Plot:

SH 19856—-1986

0 N NONE

NORMALIZED Cumulative Frequency g, (/WC,)

h LOCAL TIME adjustment =

ALL local times, dates, nodes used

LATITUDE range
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/Users/deland/pmc/programs,/gplot_v3_iwc.pro
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Nimbus—7 SBUV PMC Ice Water Content g—Plot:

SH 19861987

N LOCAL TIME adjustment =
NONE

107! N

NORMALIZED Cumulative Frequency g, (/WC,)

LATITUDE range = [—82°—-74°]

ALL local times, dates, nodes used

/Users/deland/pmc/programs,/gplot_v3_iwc.pro
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NORMALIZED Cumulative Frequency g, (/WC,)
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot:

SH 19856—-1986

LOCAL TIME adjustment =
NONE

LATITUDE range = [—82°—-74°]

ALL local times, dates, nodes used

/Users/deland/pmc/programs,/gplot_v3_iwc.pro
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot: SH 71986—1987
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot:

SH 1987—-1988
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot: SH 71988—-17989
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot: SH 7989—-7990

/Users/deland/pmc/programs,/gplot_v3_iwc.pro

7 2010

09:43:41 Tue Dec
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NORMALIZED Cumulative Frequency g, (/WC,)
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot: SH 71997—-17992
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NORMALIZED Cumulative Frequency g, (/WC,)
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot:
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot:

SH 1993—-1994
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NORMALIZED Cumulative Frequency g, (/WC,)
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N0OAA—-9 SBUV/2 PMC Ice Water Content g—Plot: SH 71994—-17995
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NOAA—-9 SBUV/2 PMC Ice Water Content g—Plot:

SH 1995—-1996
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NORMALIZED Cumulative Frequency g, (/WC,)
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NOAA—11 SBUV/2 PMC Ice Water Content g—Plot: SH 7988—1989
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107 0

NONE
ALL local times, dates, nodes used

/Users/deland/pmc/programs,/gplot_v3_iwc.pro

7 2010

NORMALIZED Cumulative Frequency g, (/WC,)

09:44:45 Tue Dec

10 PMCs

1074~ Linear Fit [IWC,,, = 50-280] N

= Slope(B,) = —2.38E—02 N

B Y—intercept = 0.218 N

N\
— AN
| 948.0 PMCs used [715897 scans]| AN
A

10751 Average IWC = 101.8(+41.0) gm/km? ><m_\dm@®/ﬂmm©szo< = 5.97%

- TOTAL Ice = 46.1 tons; max = 249.2 Average PFWWDO/H 11.50%107% sr™'

[ A

‘,,,,77,,,7,,,,7,,,,7,,,,7,,,,77,,,7,,,,777,,77/L,,7,,,,7,,,,

0 50 100 150 200 250 300 350 400 450 500 590 600

Ice Water Content [gm/km?]

File = nooo11_sh19881989fn_sig1p3_allwv.dat AREA = 7.59E+06 km?



NOAA—11 SBUV/2 PMC Ice Water Content g—Plot.
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NOAA—11 SBUV/2 PMC Ice Water Content g—Plot: SH 7990-1719971
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NOAA—11 SBUV/2 PMC Ice Water Content g—Plot: SH 7993-171994
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NOAA—11 SBUV/2 PMC Ice Water Content g—Plot: SH 7998-17999
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NOAA—11 SBUV/2 PMC Ice Water Content g—Plot: SH 7999-2000
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NOAA—14 SBUV/2 PMC Ice Water Content g—Plot: SH 7995-171996

N LOCAL TIME adjustment =
h NONE

LATITUDE range = [—82°—-74°]

107! N ALL local times, dates, nodes used

10 PMCs

NORMALIZED Cumulative Frequency g, (/WC,)

/Users/deland/pmc/programs,/gplot_v3_iwc.pro

L0-*L_  Linear Fit [IWC,, = 50-360] < |
- N —
- Slope(f,) = —1.95E-02 . 3
B Y—intercept = 0.165 N 15
~ R 13
I ~ — 0~
| 1056.0 PMCs used [74574 scans]| N 1.
S a
N
10751 Average IWC = 103.2(+46.1) gm/km? Average FREQUENCY.= 7.25% 5
— N ]
—  TOTAL lce = 56.7 tons; max = 195.0 Average ALBEDO = 12.15%10™°sr™' m
L < - ©
[ | =
I 7 I 7 I I 7 I 7 I I 7 I 7 I 7 I I 7 I 7 I I 7 T ,/7/, T w
0 50 100 150 200 250 300 350 400 450 500 550 600

Ice Water Content [gm/km?]

File = nooa14_sh19951996v4f_sig1p3_allwv.dat AREA = 7.59E+06 km?



NOAA—14 SBUV/2 PMC Ice Water Content g—Plot: SH 7996—1997
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NOAA—14 SBUV/2 PMC Ice Water Content g—Plot: SH 7997-171998
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NOAA—14 SBUV/2 PMC Ice Water Content g—Plot: SH 7998-7999
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NOAA—14 SBUV/2 PMC Ice Water Content g—Plot: SH 7999-2000
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NOAA—14 SBUV/2 PMC Ice Water Content g—Plot: SH 2003—-2004
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NOAA—14 SBUV/2 PMC Ice Water Content g—Plot: SH 2004—-2005
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NOAA—16 SBUV/2 PMC Ice Water Content g—Plot: SH 2007-2008
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NOAA—17 SBUV/2 PMC Ice Water Content g—Plot: SH 2002—-2003
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NOAA—17 SBUV/2 PMC Ice Water Content g—Plot: SH 2008—-2009
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NOAA—17 SBUV/2 PMC Ice Water Content g—Plot: SH 2009-2070
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NOAA—18 SBUV/2 PMC Ice Water Content g—Plot: SH 2006—-2007
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NOAA—18 SBUV/2 PMC Ice Water Content g—Plot: SH 2008-2009
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